

Global Libyan Journal

المجلة اللبيبة العالمية

العدد الخمسون / يناير / 2021

Existence of solution of a coupled system of differential equation with the nonlocal two-point boundary conditions

سيف الإسلام عيسى عبد الرحمن مُحَدِّ /كلية العلوم - قسم الرياضيات - جامعة عمر المختار البيضاء - ليبيا. فريال سالم عمر /كلية العلوم - قسم الرياضيات - جامعة عمر المختار البيضاء - ليبيا. ريم عوض فضل /كلية العلوم - قسم الرياضيات - جامعة عمر المختار البيضاء - ليبيا.





Global Libyan Journal

المجلة اللبيبة العالمية

العدد الخمسون / يناير / 2021

Existence of solution of a coupled system of differential equation with the nonlocal two-point boundary conditions

Abstract:

2 The aim of the paper is to study the existence of at least one solution of a nonlocal problem of coupled system of differential equations with nonlocal two-point boundary conditions. By means of Schauder fixed point theorem, an existence result of a solution is proved for the nonlocal problem considered.

Keywords: Coupled system, nonlocal conditions, at least one solution, Schauder fixed point theorem.

الملخص:

الهدف من البحث هو دراسة وجود حل واحد على الأقل لمشكلة غيرمحلية مكونة من نظام مزدوج من المعادلات التفاضلية مع شروط حدية ثنائية النقط غير محلية. باستخدام نظرية النقطة الثابتة لشودر تم أثبات وجود حل للمشكلة غير المحلية قيد الدراسة. الكلمات المفتاحية: نظام مزدوج، شروط غير محلية، حل واحد على الأقل، نظرية النقطة الثابتة لشودر.



Global Libyan Journal

المجلة اللبيبة العالمية

العدد النمسون / يناير / 2021

I. Introduction

In the last decades or so, many authors have studied the existence of solutions for problems with nonlocal conditions. The reader is referred to ([2] –[13]) and references therein.

In [7] the authors studied the existence of at least one solution of the nonlocal problem

$$\frac{dx}{dt} = f_1(t, y(t)), \qquad t \in (0, T]$$

$$\frac{dy}{dt} = f_2(t, x(t)), \qquad t \in (0, T]$$

with the nonlocal conditions

$$x(0) + \sum_{k=1}^{n} a_k x(\tau_k) = x_0, \ a_k > 0, \tau_k \in (0, T]$$

$$y(0) + \sum_{j=1}^{m} b_j x(\eta_j) = y_0, \ b_j > 0, \eta_j \in (0, T].$$

In this system the unknown functions x(t) and y(t) depend only on t with two boundary conditions at multi-points in the interval (0,T], but in this paper we prove the existence of solutions for a nonlocal problem (1)-(4) in which the unknown functions y and x depend on functions φ_1 and φ_2 of t with two boundary conditions at two points in the interval (0,1].

The nonlocal problem considered here is of the form

$$\frac{dx}{dt} = f_1(t, y(\varphi_1(t))), \qquad t \in (0, 1]$$

$$\frac{dy}{dt} = f_2(t, x(\varphi_2(t))), \qquad t \in (0, 1]$$
 (2)

with the nonlocal two-point boundary conditions

$$x(\tau) + \alpha x(\eta) = 0, \tag{3}$$

$$y(\tau) + \beta y(\eta) = 0, \tag{4}$$

where $\tau \neq \eta, \tau, \eta \in [0, 1]$ and $\alpha, \beta > 0$.

II. Preliminaries

In this section, review some definitions and theorems which will be need later.

Definition 2.1. [15] Let $F = \{f_i = X \to Y, i \in I\}$ be a family of functions with Y being a set of real (or complex) numbers, then we call uniformly bounded if there exists a real number c such that $|f_i| \le c \ \forall \ i \in I, x \in X$.

Definition 2.2. [15] Let $F = \{f(x)\}$ the class of functions defined on A where $A = [a, b] \subset R$, the class of functions $F = \{f(x)\}$ is equicontinuous if $\forall \epsilon > 0, \exists \delta(\epsilon)$ such that



Global Libyan Journal

المجلة اللبيبة العالمية

العدد الخمسون / يناير / 2021

 $|x-y| < \delta$, implies that $|f(x)-f(y)| < \epsilon \ \forall \ f \in F, \ x,y \in A$.

Theorem 2.1. [1] The function $f(x) = (f_1(x), f_2(x), \dots, f_n(x))$ is uniformly continuous in I = [a, b] if and only if each f_i is uniformly continuous in I.

Theorem 2.2. [15] (Lebesgue Dominated Convergence Theorem)

Let f_n be a sequence of functions converging to a limit f of A, and suppose that $|f_n(t)| \le \phi(t)$, $t \in A$, n = 1, 2, 3, ... were ϕ is integrable on A. Then

1. f is integrable on A

2.
$$\lim_{n\to\infty} \int_A f_n(t) d\mu = \int_A f(t) d\mu$$
.

Theorem 2.3. [14] (Schauder theorem)

Let Q be a convex subset of a Banach space $X, F : Q \rightarrow Q$ be a compact and continuous map, then F has at least one fixed point in Q.

III. Existence theorem

In this section we will study the existence of at least one solution of nonlocal problem (1)(4).

Let X be the class of all ordered pairs (x, y), $x, y \in C(0,1]$ with the norm

$$||(x,y)|| = ||x|| + ||y|| = \sup_{t \in [0,1]} |x(t)| + \sup_{t \in [0,1]} |y(t)|,$$

and let φ_i : $[0,1] \to [0,1]$ be continuous function for i = 1,2.

The nonlocal problem(1)-(4) will be considered under the following assumptions:

- (h_1) $f_i: [0,1] \times R \to R$ satisfies Caratheodory conditions, that is f_i is
 - (i) measurable in $t \in (0,1]$, for any $x \in R$.
 - (ii) continuous in $x \in R$, for almost all $t \in (0,1]$.
- (h_2) There exist two integrable functions $a_i \in L_1[0,1]$ and two positive constants $b_i > 0$, i = 1,2 such that

$$|f_i(t,x)| \le a_i(t) + b_i|x|,$$

 $\sup_{t \in [0,1]} \int_0^t a_i(s) ds < a_i^*, \quad i = 1,2 \ \forall \ t \in [0,1]$

where a_i^* for i = 1,2 are finite real numbers, and $L_1[0,1]$ denotes the class of Lebesgue integrable functions on the interval I = [0,1].

Then we have the following lemma:



Global Libyan Journal

المجلة اللبيبة العالمية

العدد النمسون / يناير / 2021

Lemma 3.1 The solution of the nonlocal problem (1)-(4) can be expressed by system of the integral equations

$$x(t) = \int_0^t f_1\left(s, y(\varphi_1(s))\right) ds - \frac{\alpha}{1+\alpha} \int_0^{\eta} f_1\left(s, y(\varphi_1(s))\right) ds - \frac{1}{1+\alpha} \int_0^{\tau} f_1\left(s, y(\varphi_1(s))\right) ds,$$

$$(5)$$

and

$$y(t) = \int_0^t f_2\left(s, x(\varphi_2(s))\right) ds - \frac{\beta}{1+\beta} \int_0^{\eta} f_2\left(s, x(\varphi_2(s))\right) ds - \frac{1}{1+\beta} \int_0^{\tau} f_2\left(s, x(\varphi_2(s))\right) ds.$$

$$(6)$$

Proof. Integrating equation (1), we obtain

$$x(t) = x(0) + \int_0^t f_1\left(s, y(\varphi_1(s))\right) ds,$$

$$x(\eta) = x(0) + \int_0^{\eta} f_1\left(s, y(\varphi_1(s))\right) ds$$

and

$$\alpha x(\eta) = \alpha x(0) + \alpha \int_0^{\eta} f_1(s, y(\varphi_1(s))) ds$$
 (7)

Let $t = \tau$, then

$$x(\tau) = x(0) + \int_0^{\tau} f_1(s, y(\varphi_1(s))) ds.$$
 (8)

Substituting from equations (7) and (8), we get

$$x(0) = -\frac{\alpha}{1+\alpha} \int_0^{\eta} f_1\left(s, y(\varphi_1(s))\right) ds - \frac{1}{1+\alpha} \int_0^{\tau} f_1\left(s, y(\varphi_1(s))\right) ds.$$

Hence

$$\begin{split} x(t) &= \int_0^t f_1\left(s, y\left(\varphi_1(s)\right)\right) ds - \frac{\alpha}{1+\alpha} \int_0^\eta f_1\left(s, y\left(\varphi_1(s)\right)\right) ds - \\ &- \frac{1}{1+\alpha} \int_0^\tau f_1\left(s, y\left(\varphi_1(s)\right)\right) ds. \end{split}$$

Similarly, Integrating equation (2), we obtain

$$y(t) = y(0) + \int_0^t f_2(s, x(\varphi_2(s))) ds,$$

$$y(\eta) = y(0) + \int_0^{\eta} f_2(s, x(\varphi_2(s))) ds,$$

and



Global Libyan Journal

المجلة اللبيبة العالمية

العدد الخمسون / يناير / 2021

$$\beta x(\eta) = \beta x(0) + \beta \int_0^{\eta} f_2\left(s, x(\varphi_2(s))\right) ds. \tag{9}$$

Let $t = \tau$, then

$$y(\tau) = y(0) + \int_0^{\tau} f_2(s, x(\varphi_2(s))) ds.$$
 (10)

Substituting from equations (9) and (10), we get

$$y(0) = -\frac{\beta}{1+\beta} \int_0^{\eta} f_2\left(s, x\left(\varphi_2(s)\right)\right) ds - \frac{1}{1+\beta} \int_0^{\tau} f_2\left(s, x\left(\varphi_2(s)\right)\right) ds.$$

Hence

$$y(t) = \int_0^t f_2\left(s, x\left(\varphi_2(s)\right)\right) ds - \frac{\beta}{1+\beta} \int_0^{\eta} f_2\left(s, x\left(\varphi_2(s)\right)\right) ds - \frac{1}{1+\beta} \int_0^{\tau} f_2\left(s, x\left(\varphi_2(s)\right)\right) ds.$$

Now, differentiating (5) and (6), we obtain

$$\frac{dx}{dt} = \frac{d}{dt} \int_0^t f_1(s, y(\varphi_1(s))) ds + 0.$$

This mean that

$$\frac{dx}{dt} = f_1\left(t, y\left(\varphi_1(t)\right)\right).$$

Similarly,

$$\frac{dy}{dt} = \frac{d}{dt} \int_0^t f_2\left(s, x\left(\varphi_2(s)\right)\right) ds + 0.$$

This mean that

$$\frac{dy}{dt} = f_2\left(t, x(\varphi_2(t))\right).$$

Also, from (5) and (6), we get

$$x(\tau) = \int_0^{\tau} f_1\left(s, y(\varphi_1(s))\right) ds - \frac{\alpha}{1+\alpha} \int_0^{\eta} f_1\left(s, y(\varphi_1(s))\right) ds - \frac{1}{1+\alpha} \int_0^{\tau} f_1\left(s, y(\varphi_1(s))\right) ds$$
$$= \frac{\alpha}{1+\alpha} \left(\int_0^{\tau} f_1\left(s, y(\varphi_1(s))\right) ds - \int_0^{\eta} f_1\left(s, y(\varphi_1(s))\right) ds\right),$$

and

$$\begin{split} x(\eta) &= \int_0^\eta f_1\left(s,y\big(\varphi_1(s)\big)\right) ds - \frac{\alpha}{1+\alpha} \int_0^\eta f_1\left(s,y\big(\varphi_1(s)\big)\right) ds - \frac{1}{1+\alpha} \int_0^\tau f_1\left(s,y\big(\varphi_1(s)\big)\right) ds \\ &= \frac{\alpha}{1+\alpha} \left(\int_0^\eta f_1\left(s,y\big(\varphi_1(s)\big)\right) ds - \int_0^\tau f_1\left(s,y\big(\varphi_1(s)\big)\right) ds\right). \end{split}$$

Hence

$$x(\tau) + \alpha x(\eta) = 0.$$

Similarly

$$y(\tau) = \int_0^{\tau} f_2\left(s, x(\varphi_2(s))\right) ds - \frac{\beta}{1+\beta} \int_0^{\eta} f_2\left(s, x(\varphi_2(s))\right) ds - \frac{1}{1+\beta} \int_0^{\tau} f_2\left(s, x(\varphi_2(s))\right) ds.$$



Global Libyan Journal

المجلة اللبيرة العالمية

العدد الخمسون / يناير / 2021

$$= \frac{\beta}{1+\beta} \left(\int_0^{\tau} f_2\left(s, x(\varphi_2(s))\right) ds - \int_0^{\eta} f_2\left(s, x(\varphi_2(s))\right) ds \right)$$

and

$$y(\eta) = \int_0^{\eta} f_2\left(s, x(\varphi_2(s))\right) ds - \frac{\beta}{1+\beta} \int_0^{\eta} f_2\left(s, x(\varphi_2(s))\right) ds - \frac{1}{1+\beta} \int_0^{\tau} f_2\left(s, x(\varphi_2(s))\right) ds.$$

$$= \frac{\beta}{1+\beta} \left(\int_0^{\eta} f_2\left(s, x(\varphi_2(s))\right) ds - \int_0^{\tau} f_2\left(s, x(\varphi_2(s))\right) ds\right).$$

Hence

$$y(\tau) + \beta y(\eta) = 0.$$

This proves the equivalence between the problem (1) - (4) and the integral equations (5) and (6).

Now we are prepared to formulate our main existence result.

Theorem 3. 1 Let the assumptions (h_1) - (h_2) are satisfied. Then there exist at least one solution of the nonlocal problem (1) – (4).

Proof. Consider the operator \mathcal{F} by

$$\mathcal{F}(x,y) = (\mathcal{F}_1 y, \mathcal{F}_2 x),$$

were

$$\begin{split} \mathcal{F}_1 y &= \int_0^t f_1\left(s, y\left(\varphi_1(s)\right)\right) ds - \frac{\alpha}{1+\alpha} \int_0^\eta f_1\left(s, y\left(\varphi_1(s)\right)\right) ds - \frac{1}{1+\alpha} \int_0^\tau f_1\left(s, y\left(\varphi_1(s)\right)\right) ds, \\ \mathcal{F}_2 x &= \int_0^t f_2\left(s, x\left(\varphi_2(s)\right)\right) ds - \frac{\beta}{1+\beta} \int_0^\eta f_2\left(s, x\left(\varphi_2(s)\right)\right) ds - \frac{1}{1+\beta} \int_0^\tau f_2\left(s, x\left(\varphi_2(s)\right)\right) ds. \end{split}$$

Define the set Q_r as follows:

$$Q_r = \left\{ (x,y) \colon \|(x,y)\| = \|x\| + \|y\| \le r, r = r_1 + r_2, r_1 = \frac{2a_1^*}{1 - 3b_1}, \ r_2 = \frac{2a_2^*}{1 - 3b_2} \right\}$$

Now

$$|\mathcal{F}_{1}y| = \left| \int_{0}^{t} f_{1}\left(s, y(\varphi_{1}(s))\right) ds - \frac{\alpha}{1+\alpha} \int_{0}^{\eta} f_{1}\left(s, y(\varphi_{1}(s))\right) ds - \frac{\alpha}{1+\alpha} \int_{0}^{\tau} f_{1}\left(s, y(\varphi_{1}(s))\right) ds \right| \leq \left| \int_{0}^{t} f_{1}\left(s, y(\varphi_{1}(s))\right) ds \right| + \frac{\alpha}{1+\alpha} \left| \int_{0}^{\eta} f_{1}\left(s, y(\varphi_{1}(s))\right) ds \right| + \frac{1}{1+\alpha} \left| \int_{0}^{\tau} f_{1}\left(s, y(\varphi_{1}(s))\right) ds \right| \leq \left| \int_{0}^{t} \left| f_{1}\left(s, y(\varphi_{1}(s))\right) \right| ds + \frac{\alpha}{1+\alpha} \int_{0}^{\eta} \left| f_{1}\left(s, y(\varphi_{1}(s)\right) \right|$$

$$+ \frac{1}{1+\alpha} \int_0^t \left| f_1 \left(s, y(\varphi_1(s)) \right) \right| ds \le$$

$$\int_0^t a_1(s) ds + b_1 \int_0^t \left| y(\varphi_1(s)) \right| ds + \frac{\alpha}{1+\alpha} \left(\int_0^{\eta} a_1(s) ds + b_1 \int_0^{\eta} \left| y(\varphi_1(s)) \right| ds \right) +$$



Global Libyan Journal

المجلة اللبيبة العالمية

العدد النمسون / يناير / 2021

$$\frac{1}{1+\alpha} \left(\int_0^{\tau} a_1(s) ds + b_1 \int_0^{\tau} |y(\varphi_1(s))| ds \right) \le$$

$$a_1^* + b_1 r_1 + \frac{\alpha}{1+\alpha} (a_1^* + b_1 r_1) + \frac{1}{1+\alpha} (a_1^* + b_1 r_1) \le r_1.$$

Similarly, we have

$$\begin{split} |\mathcal{F}_{2}x| &= \left| \int_{0}^{t} f_{2}\left(s, x(\varphi_{2}(s))\right) ds - \frac{\beta}{1+\beta} \int_{0}^{\eta} f_{2}\left(s, x(\varphi_{2}(s))\right) ds - \frac{1}{1+\beta} \int_{0}^{\tau} f_{2}\left(s, x(\varphi_{2}(s))\right) ds \right| \leq \left| \int_{0}^{t} f_{2}\left(s, x(\varphi_{2}(s))\right) ds \right| + \frac{\beta}{1+\beta} \left| \int_{0}^{\eta} f_{2}\left(s, x(\varphi_{2}(s))\right) ds \right| + \frac{1}{1+\beta} \left| \int_{0}^{\tau} f_{2}\left(s, x(\varphi_{2}(s))\right) ds \right| \leq \int_{0}^{t} \left| f_{2}\left(s, x(\varphi_{2}(s))\right) \right| ds + \frac{\beta}{1+\beta} \int_{0}^{\eta} \left| f_{2}\left(s, x(\varphi_{2}(s))\right) \right| ds + \frac{1}{1+\beta} \int_{0}^{\tau} \left| f_{2}\left(s, x(\varphi_{2}(s))\right) \right| ds + \frac{1}{1+\beta} \int_{0}^{\tau} \left| f_{2}\left(s, x(\varphi_{2}(s))\right) \right| ds + \frac{1}{1+\beta} \left| \int_{0}^{\tau} a_{2}(s) ds + b_{2} \int_{0}^{\tau} \left| x(\varphi_{2}(s)) \right| ds + \frac{\beta}{1+\beta} \left| \int_{0}^{\eta} a_{2}(s) ds + b_{2} \int_{0}^{\eta} \left| x(\varphi_{2}(s)) \right| ds + \frac{1}{1+\beta} \left| \int_{0}^{\tau} a_{2}(s) ds + b_{2} \int_{0}^{\tau} \left| x(\varphi_{2}(s)) \right| ds \right| ds + \frac{\beta}{1+\beta} \left| \int_{0}^{\tau} a_{2}(s) ds + b_{2} \int_{0}^{\tau} \left| x(\varphi_{2}(s)) \right| ds + \frac{\beta}{1+\beta} \left| \int_{0}^{\tau} a_{2}(s) ds + b_{2} \int_{0}^{\tau} \left| x(\varphi_{2}(s)) \right| ds \right| ds + \frac{\beta}{1+\beta} \left| \int_{0}^{\tau} a_{2}(s) ds + b_{2} \int_{0}^{\tau} \left| x(\varphi_{2}(s)) \right| ds + \frac{\beta}{1+\beta} \left| \int_{0}^{\tau} a_{2}(s) ds + b_{2} \int_{0}^{\tau} \left| x(\varphi_{2}(s)) \right| ds + \frac{\beta}{1+\beta} \left| \int_{0}^{\tau} a_{2}(s) ds + b_{2} \int_{0}^{\tau} \left| x(\varphi_{2}(s)) \right| ds \right| ds + \frac{\beta}{1+\beta} \left| \int_{0}^{\tau} a_{2}(s) ds + b_{2} \int_{0}^{\tau} \left| x(\varphi_{2}(s)) \right| ds + \frac{\beta}{1+\beta} \left| \int_{0}^{\tau} a_{2}(s) ds + b_{2} \int_{0}^{\tau} \left| x(\varphi_{2}(s)) \right| ds + \frac{\beta}{1+\beta} \left| \int_{0}^{\tau} a_{2}(s) ds + b_{2} \int_{0}^{\tau} \left| x(\varphi_{2}(s)) \right| ds \right| ds + \frac{\beta}{1+\beta} \left| \int_{0}^{\tau} a_{2}(s) ds + b_{2} \int_{0}^{\tau} \left| x(\varphi_{2}(s)) \right| ds + \frac{\beta}{1+\beta} \left| \int_{0}^{\tau} a_{2}(s) ds + b_{2} \int_{0}^{\tau} \left| x(\varphi_{2}(s)) \right| ds \right| ds + \frac{\beta}{1+\beta} \left| \int_{0}^{\tau} a_{2}(s) ds + \frac{\beta}{1+\beta} \left| \int_{0}^{$$

Hence

$$\|\mathcal{F}(x,y)\| = \|\mathcal{F}_1 y\| + \|\mathcal{F}_2 x\| \le r_1 + r_2 = r,$$

then the class of functions $\{\mathcal{F}(x,y)\}$ is uniformly bounded.

Let
$$(x, y) \in Q_r$$
, for $t_1, t_2 \in [0, 1]$, $t_1 < t_2$, and let $|t_2 - t_1| < \delta$, then
$$|\mathcal{F}_1 y(t_2) - \mathcal{F}_1 y(t_1)| = \left| \int_0^{t_2} f_1 \left(s, y(\varphi_1(s)) \right) ds - \frac{\alpha}{1+\alpha} \int_0^{\eta} f_1 \left(s, y(\varphi_1(s)) \right) ds - \frac{1}{1+\alpha} \int_0^{\tau} f_1 \left(s, y(\varphi_1(s)) \right) ds - \int_0^{t_1} f_1 \left(s, y(\varphi_1(s)) \right) ds + \frac{\alpha}{1+\alpha} \int_0^{\eta} f_1 \left(s, y(\varphi_1(s)) \right) ds + \frac{1}{1+\alpha} \int_0^{\tau} f_1 \left(s, y(\varphi_1(s)) \right) ds \right| \leq \int_{t_1}^{t_2} \left| f_1 \left(s, y(\varphi_1(s)) \right) \right| ds \leq$$

$$\leq \int_{t_1}^{t_2} (|a_1(s)| + |b_1| y(\varphi_1(s)) |) ds \leq \int_{t_1}^{t_2} a_1(s) ds + |b| |y| |t_2 - t_1),$$

then $\{\mathcal{F}_1 y\}$ is a class of equicontinuous functions.

Similarly, we have

$$\begin{split} |\mathcal{F}_{1}x(t_{2}) - \mathcal{F}_{1}x(t_{1})| &= \left| \int_{0}^{t_{2}} f_{2}\left(s, x(\varphi_{2}(s))\right) ds - \right. \\ &\left. - \frac{\beta}{1+\beta} \int_{0}^{\eta} f_{2}\left(s, x(\varphi_{2}(s))\right) ds - \frac{1}{1+\beta} \int_{0}^{\tau} f_{2}\left(s, x(\varphi_{2}(s))\right) ds - \int_{0}^{t_{1}} f_{2}\left(s, x(\varphi_{2}(s))\right) ds + \right. \end{split}$$



Global Libyan Journal

المجلة اللبيبة العالمية

العدد الخمسون / يناير / 2021

$$\begin{split} & + \frac{\beta}{1+\beta} \int_0^{\eta} f_2\left(s, x(\varphi_2(s))\right) ds + \frac{1}{1+\beta} \int_0^{\tau} f_2\left(s, x(\varphi_2(s))\right) ds \Big| \leq \int_{t_1}^{t_2} \Big| f_2\left(s, x(\varphi_2(s))\right) \Big| ds \leq \\ & \leq \int_{t_1}^{t_2} \Big(|a_2(s)| + b_2 |x(\varphi_2(s))| \Big) ds \leq \int_{t_1}^{t_2} a_2(s) ds + b ||x|| (t_2 - t_1), \end{split}$$

then $\{\mathcal{F}_1 x\}$ is a class of equicontinuous functions.

Therefore the class of functions $\{\mathcal{F}(x,y)\}$ is equicontinuous and uniformly bounded.

Let $\{y_n\}$ be convergent sequence such that $y_n \to y$, then

$$\begin{split} \lim_{n\to\infty} & \mathcal{F}_1(y_n(\varphi_1(s))) = \lim_{n\to\infty} \int_0^t f_1\left(s,y_n(\varphi_1(s))\right) ds - \\ & -\frac{\alpha}{1+\alpha} \int_0^\eta f_1\left(s,y_n(\varphi_1(s))\right) ds - \frac{1}{1+\alpha} \int_0^\tau f_1\left(s,y_n(\varphi_1(s))\right) ds. \end{split}$$

But from the assumption

$$\left| f_1(s, y_n(\varphi_1(s))) \right| \le a_1 + b_1 |y_n|$$

$$\le a_1 + b_1 r,$$

$$f_1(s, y_n(\varphi_1(s))) \to f_1(s, y(\varphi_1(s))).$$

Applying Lebesgue dominated convergence theorem, we deduce that

$$\begin{split} \lim_{n\to\infty} \int_0^t f_1\left(s,y_n(\varphi_1(s))\right) ds &= \int_0^t \lim_{n\to\infty} f_1\left(s,y_n(\varphi_1(s))\right) ds \\ &= \int_0^t f_1\left(s,\lim_{n\to\infty} y_n(\varphi_1(s))\right) ds = \int_0^t f_1\left(s,y(\varphi_1(s))\right) ds, \\ \lim_{n\to\infty} \int_0^\eta f_1\left(s,y_n(\varphi_1(s))\right) ds &= \int_0^\eta \lim_{n\to\infty} f_1\left(s,y_n(\varphi_1(s))\right) ds \\ &= \int_0^\eta f_1\left(s,\lim_{n\to\infty} y_n(\varphi_1(s))\right) ds = \int_0^\eta f_1\left(s,y(\varphi_1(s))\right) ds, \end{split}$$

and

$$\begin{split} \lim_{n\to\infty} \int_0^\tau f_1\left(s,y_n(\varphi_1(s))\right) ds &= \int_0^\tau \lim_{n\to\infty} f_1\left(s,y_n(\varphi_1(s))\right) ds \\ &= \int_0^\tau f_1\left(s,\lim_{n\to\infty} y_n(\varphi_1(s))\right) ds = \int_0^\tau f_1\left(s,y(\varphi_1(s))\right) ds, \end{split}$$

then

$$\begin{split} \lim_{n \to \infty} \, \mathcal{F}_1 \big(y_n \big(\varphi_1 (s) \big) \big) &= \int_0^t f_1 \left(s, y_n \big(\varphi_1 (s) \big) \right) ds - \int_0^\eta f_1 \left(s, y_n \big(\varphi_1 (s) \big) \right) ds - \\ &- \int_0^\tau f_1 \Big(s, y_n \big(\varphi_1 (s) \big) \Big) ds = \, \mathcal{F}_1 y \end{split}$$

which proves that \mathcal{F}_1 is continuous operator.

Also



Global Libyan Journal

المجلة اللبيبة العالمية

العدد النمسون / يناير / 2021

Let $\{x_n\}$ be convergent sequence such that $x_n \to x$, then

$$\begin{split} \lim_{n\to\infty} & \mathcal{F}_2(x_n(\varphi_2(s))) = \lim_{n\to\infty} \int_0^t f_2\left(s, x_n(\varphi_2(s))\right) ds - \\ & - \frac{\beta}{1+\beta} \int_0^\eta f_2\left(s, x_n(\varphi_2(s))\right) ds - \frac{1}{1+\beta} \int_0^\tau f_2\left(s, x_n(\varphi_2(s))\right) ds. \end{split}$$

But from the assumption

$$\left| f_2\left(s, x_n(\varphi_2(s))\right) \right| \le a_2 + b_2 |x_n|$$

$$\le a_2 + b_2 r,$$

$$f_2\left(s, x_n(\varphi_2(s))\right) \to f_2\left(s, x(\varphi_2(s))\right).$$

Applying Lebesgue dominated convergence theorem, we deduce that

$$\begin{split} \lim_{n\to\infty} \int_0^t f_2\left(s, x_n(\varphi_2(s))\right) ds &= \int_0^t \lim_{n\to\infty} f_2\left(s, x_n(\varphi_2(s))\right) ds \\ &= \int_0^t f_2\left(s, \lim_{n\to\infty} x_n(\varphi_2(s))\right) ds = \int_0^t f_2\left(s, x(\varphi_2(s))\right) ds, \\ \lim_{n\to\infty} \int_0^\eta f_2\left(s, x_n(\varphi_2(s))\right) ds &= \int_0^\eta \lim_{n\to\infty} f_2\left(s, x_n(\varphi_2(s))\right) ds \\ &= \int_0^\eta f_2(s, \lim_{n\to\infty} x_n(\varphi_2(s))) ds = \int_0^\eta f_2\left(s, x(\varphi_2(s))\right) ds, \end{split}$$

and

$$\lim_{n\to\infty} \int_0^{\tau} f_2\left(s, x_n(\varphi_2(s))\right) ds = \int_0^{\tau} \lim_{n\to\infty} f_2\left(s, x_n(\varphi_2(s))\right) ds$$
$$= \int_0^{\tau} f_2\left(s, \lim_{n\to\infty} x_n(\varphi_2(s))\right) ds = \int_0^{\tau} f_2\left(s, x(\varphi_2(s))\right) ds,$$

then

$$\begin{split} \lim_{n\to\infty} \mathcal{F}_2(x_n(\varphi_2(s))) &= \int_0^t f_2\left(s, x_n(\varphi_2(s))\right) ds - \int_0^\eta f_2\left(s, x_n(\varphi_2(s))\right) ds - \\ &- \int_0^\tau f_2\left(s, x_n(\varphi_2(s))\right) ds = \mathcal{F}_2 x \end{split}$$

which proves that \mathcal{F}_2 is continuous operator.

Hence, $\mathcal{F}: Q_r \to Q_r$ is continuous and compact.

Now we show that Q_r is convex,

let
$$(x_1, y_1), (x_2, y_2) \in Q_r$$
,

$$||(x_i, y_i)|| = ||x_i|| + ||y_i|| \le r, i = 1, 2.$$

For $\lambda \in [0, 1]$,

$$\|\lambda(x_1,y_1) + (1-\lambda)(x_2,y_2)\| = \|(\lambda x_1,\lambda y_1) + ((1-\lambda)x_2,(1-\lambda)y_2)\|$$



Global Libyan Journal

المجلة اللبيبة العالمية

العدد الخمسون / يناير / 2021

$$\begin{split} &= \|(\lambda x_1 + (1 - \lambda)x_2, \ \lambda y_1 + (1 - \lambda)y_2)\| \\ &\leq \|\lambda x_1 + (1 - \lambda)x_2\| + \|\lambda y_1 + (1 - \lambda)y_2\| \\ &\leq \lambda \|x_1\| + (1 - \lambda)\|x_2\| + \lambda \|y_1\| + (1 - \lambda)\|y_2\| \\ &= \lambda [\|x_1\| + \|y_1\|] + (1 - \lambda)[\|x_2\| + \|y_2\|] \\ &\leq \lambda r + (1 - \lambda)r = r, \end{split}$$

this mean that Q_r is convex.

Using Schauder fixed point theorem, \mathcal{F} has a fixed point $(x, y) \in Q_r$ which proves that there exists at least one solution of the nonlocal problem (1) - (4).

This completes the proof.

Acknowledgement

The authors are indebted to an anonymous referee for a detailed reading of the manuscript and useful comments and suggestions, which helped us improve this work.





Global Libyan Journal

المجلة اللبيبة العالمية

العدد الخمسون / يناير / 2021

References

- [1] T. M. Apostol, Mathematical Analysis, 2nd Edition, Addison-Weasley Publishing Company Inc., (1974).
- [2] A. Boucherif and Radu Precup, On The Nonlocal Initial Value Problem For First Order Differential Equations, *Fixed Point Theory*, 4, 2(2003)205212.
- [3] A. Boucherif, A First-order Differential Inclusions with Nonlocal Initial Conditions, *Applied Mathematics Letters*, 15(2002)409-414.
- [4] A. Boucherif, Nonlocal Cauchy Problems for First-order Multivalued Equations, *Electronic Journal of differential equations*, 47, (2002)1-9.
- [5] L. Byszewski and V. Laksmikantham, Theorem about The Existence and Uniqueness of A nonlocal Abstract Cauchy Proplem in A Banach Space, *Applicable analysis*, 40(1991)11-19.
- [6] A. M. El-Sayed and Sh. A. Abd El-Salam, On The Stability of A Fractional-Order Differential Equations with Nonlocal Initial Condition, *Electronic Journal of differential equations*, 29(2008)1-8.
- [7] A. M. El-Sayed and Sh. A. Abd El-Rahman and M. El-Gendy, Existence of solution of a coupled system of differential equation with nonlocal conditions, *Malaya Journal of Matematik*, 2, 4(2014)345-351.
- [8] A. M. El-Sayed and Sh. A. Abd El-Rahman and M. El-Gendy, Uniformly Stable Solution Of A Nonlocal Problem Of Coupled System Of Differential Equations, *Ele. Math. Differential Equations and applications*, 5, 3(2013)335-365.
- [9] A. M. El-Sayed and E. O. Bin-Taher, An Arbitrary Fractional Order Differential Equation with Initial Nonlocal and Integral Conditions, *Advances in pure mathematics*, 1, 3(2011)59-62.
- [10] A. M. El-Sayed and E. O. Bin-Taher, A Nonlocal Problem for a Multi-Term An Fractional Orders Differential Equations, *Journal of Math. Analysis*, 5, 29 (2011) 1445-1451.
- [11] A. M. El-Sayed and E. O. Bin-Taher, A Nonlocal Problem of An Arbitrary Fractional Orders Differential Equations, *Alexandria of Mathematics*, 1, 2 (2010).
- [12] E. Gatsori, S. k. Ntouyas and Y. G. Sficas, On A Nonlocal Cauchy Problem for Differential Inclusions, *Apstract and Applied Analysis*, (2004) 425-434.
- [13] E. Guerekata, A Cauchy Problem for some Fractional Abstract Differential Equation with Nonlocal Coditions, *Nonlinear Analysis*, 70(2009)1873-1876.



Global Libyan Journal

المجلة الليبية العالمية

العدد النمسون / يناير / 2021

- [14] K. Goebel and W. A. Kirk, Topics in Matric Fixed Point Theory, *Cambridge University Press*, (1990)243 pages.
- [15] A. N. Kolmogorov and S. V. Fomin, Introductory Real Analysis, *Prentice Hallinc*, (1970).

